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SECTION -1

1.  In which language Sangam literature is written ?

(a) Tamil (b)  Sanskrit (c) Marathi (d) None of the above
2. At which place Muslim League was formed in 1906 ?

(a) Multan (b) Dhaka (c) Deoband (d) Peshawar
3. Great scholar Ashwaghosh was the contemporary of which ruler ?

(a) Chandra Gupta-I (b) Skand Gupta

(c) Kanishka (d) Harshvardhan
4.  Who had constructed the Sudarshan Lake ?

(a) Tushasf (b) Parndutt

(c) Pushyagupta Vaishya (d) Chakrapalit
5.  Which animal picture is not inscribed in Ashoka’s Sarnath Pillar ?

(a) Horse (b) Elephant (c) Lion (d) Rhinoceros
6.  During whose reign the third Buddhist council was organized ?

(a) Ashok (b) Kalashok (c) Kanishka (d) Azat Shatru
7.  According to Martimer wheeler and Stuart Piggott, the date of Indus Civilization was

(a) 2350B.C.-1700B.C. (b) 2500 B.C.—-1500 B.C.

(c) 2500B.C.-1750B.C. (d) 2800 B.C.-2500B.C.
8.  The author of ‘Prabandh Chintamani’ was

(a) Sandhyakar Nandi (b) Naychandra Suri

(c) Bhavbhuti (d) Merutung

9.  In which language ‘Periplus of the Erythraean Sea’ is written ?
(a) Greek (b) French (c) German (d) English

10. 'Who was the Viceroy of India at the time of foundation of Indian National Congress ?
(@) Lord Lytton (b) Lord Curzon (c) Lord Dufferin (d) Lord Rippon

11. In which year Gadar party was formed ?
(a) 1911 (b) 1914 (c) 1913 (d) 1916

12. In which year Vernacular Press Act was passed ?
(a) 1878 (b) 1875 (c) 1879 (d) 1881

13. Gandhi-Irwin Pact was signed in the year :
(a) 1930 (b) 1931 (c) 1932 (d) 1935
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AT — 1
1. & gifgcd fore wman & fer@n man 2 2

(a) dftre (b) E=hd (c) T (d) WIS | IS T&l
2. 1906 H gt ofiv o1 7 fohm T o femer o

(a) Head (b) @I (c) Tase (d) UIMER
3. HeM fogH reaaly fond SIHeh 1 G AT ?

(@ F=I<-1 (b)) T (c) HiT=h (d) wEE
4. e gt o1 fmior fopem shamm o 2

(a) T (b) Uulex (c) IS 3% (d) <shuTfera
5. 373k oh WITATY TR UL i |1 o] 2t 3ifera 7§ ?

(a) el (b) et () M d) e
6. T Slg T fohEeh ATERIA | ST i T 7

(a) 3T (b) HIATIMNH (c) HiT=h (d) 3TeTaeTy
7. HITEHR SEier 3TN 2aTe fre o S79am &y wvaran i fafyr oft

(a) 2350%.9, - 17003.9, (b) 2500%.9, - 1500 3.9,

(c) 2500%.9, - 175034, (d) 2800%.9, - 2500%.4,
8. ‘gevy fu<mfor =1 g o -

(a) TEERAL (b)) TESHED (c) wenfer (d) weEg
9. ‘UfteT® 37T g TRiys™ &Y fopm wyrar # fore) =t 7

(a) IO (b) W (c) (d) IS

10. WA TSI HIUE sl TATIHT o T WRA Sl STFE0E i o7 ?
(a) AEfde  (b) IS T (c) TS SHIA (d) =ie fum

11. T urdf 1 7T forg o fomam mam o 7

(a) 1911 (b) 1914 (c) 1913 (d) 1916
12. Toru oY SATeer 9 wae TIita femerm T/ ¢

(a) 1878 (b) 1875 (c) 1879 (d) 1881
13.  TiTeft-safom Tweia W forg o gEaTaR g ¢

(a) 1930 (b) 1931 (c) 1932 (d) 1935
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14. Poona Pact was signed on

(a) 23" October, 1930 (b) 24" September, 1931

(c) 24™ September, 1932 (d) 24™ November, 1933
15. When was the Non-Cooperation Movement withdrawn ?

(a) 1920 (b) 1922 (c) 1931 (d) 1927
16. Third Battle of Panipat took place in the year

(a) 1757 (b) 1761 (c) 1764 (d) 1769
17. Who used to say ? “I want to be Gokhale of Muslims™ :

(a) Maulana Mohammad Ali (b) Mohammad Ali Jinnah

(c) Sir Saiyad Ahmad Khan (d) Khan Abdul Gaffar Khan
18. Which Sultan of Delhi wrote his autobiography ?

(a) Sikandar Lodi (b) Muhammad bin Tughlaq

(c) Iltutmish (d) Firoz Tughlaq

19. When did Shyam Ji Krishna Verma establish ‘India House’ in London ?
(a) 1901 (b) 1903 (c) 1905 (d) 1907

20. How many members of Uttarakhand are represented in the Lok Sabha ?
(a) 03 (b) 05 (c) 08 (d 11

21. The right to reshuffle the council of Ministers rest with
(a) The President (b) The Cabinet
(c) The Prime Minister (d) The Speaker

22. Article 280 of Indian Constitution is associated with
(a) Finance Commission (b) Election Commission
(c) Public Service Commission (d) Union Public Service Commission

23. The resolution for removing the Vice-President of India can be moved in
(a) Lok Sabha alone (b) Either House of Parliament
(c) Joint sitting of Parliament (d) Rajya Sabha

24. The Constitution of India was adopted on
(a) 15" August, 1947 (b) 9" December, 1946
(c) 26™ November, 1949 (d) 26" January, 1950

25. The disputes regarding the election of President are decided by
(a) The Supreme Court of India (b) The Parliament
(c) The Lok Sabha
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14. T SHEAT T EEAT8R e 5U ?

(a) 23 3R, 1930 (b) 24 faarr, 1931
(c) 24 Tqawmr, 1932 (d) 2479w, 1933
15. 3THEIN QI e o198 foam T ?
(@) 1920 (b) 1922 (c) 1931 (d) 1927

16. 9TTd 1 a1 g fopd o gatm o ?

(@) 1757 (b) 1761 (c) 1764 d) 1769
17. s g1 a1 o1 & “H guedHi &1 MiEe s=1 Jearyg” ?

(a) HITHT Higme 3Teft (b) HEEE 3Tt =

(c) T I ITgHS Wi (d) WM 375 THFRR Gl

18. feoeht & forg goam 7 3ot Strameren forgdt ?
(@) Reted (b)) Hemefsm e (o) sedafw (d) IS grreTeh

19.  SaTHS o0 ui | Te B Sfean g’ Y T e hY 7

(a) 1901 (b) 1903 (c) 1905 d) 1907
20. IAUEUE o feha T Aok G 8 Tieferes ohid 8 7
(a) 03 (b) 05 (c) 08 d 11

21. HEuiee o HEed S Hl SR B -
(a) USCUdsl  (b) HEHISH i (c) YT i (d) TR

22. WA HIGUH 1 3AT=05 280 HI4d 8
(@) fT@amm (b)) FERAIET () ARIAMIA™T  (d) T ARD Gl IR

23. YRA % SU-TFUTd o &M T TEATd AT ST Tohall & :

(a) hao Al OHT I (b) TEE & e Tefi ged g
(c) THE ™ TIH 3 gRI (d) hact TST AT g
24. W <1 Afaur Safiehd foha T o
(a) 15 37T, 1947 1 (b) 9 fegra, 1946 1
(c) 26T, 1949 i (d) 26 eI, 1950
25. Tsgdfe o TTE Trarelt foarel o fote fean sran &
(a) YA Tar= TG g (b) TES G
(c) <A B9 GHT (d) TS A G
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26. The President can vacate his office by addressing his resignation to
(a) The Vice-President (b) The Speaker of Lok Sabha
(c) The Prime Minister (d) The Chief Justice of India

27. The Judges of the Supreme Court hold office till they reach the age of

(a) 58 years (b) 60 years (c) 62 years (d) 65 years
28. How many members are nominated for the Rajya Sabha by the President ?
(a) 08 (b)y 10 (c) 12 (d 15
29. The word “secular” and “socialist” were added in the Preamble of the Indian Constitution
by
(a) 39" Amendment (b) 41 Amendment
) 42" Amendment (d) 44" Amendment

30. The Green Highways policy in India was introduced in

(a) 2015 (b) 2017 (c) 2019 (d) 2020
31. Who was the Chairman of the 15" Finance Commission of India ?

(a) Rakesh Raman (b) Ramesh Chand

(c) Urjit Patel (d) N.K. Singh

32. According to World Bank’s annual Report 2020 on ‘The Ease of Doing Business’, the
India’s rank is

(a) 77" (b)y 72 (c) 68" (d 634
33. The belief that economic growth will percolate down to all sectors, is known as

(a) Pump Priming (b) Trickle Down

(c) Dispersal Theory (d) None of the above

34. Which one of the following is not a greenhouse gas ?

(a) Methane (b) Ozone (c) Oxygen (d) Nitrous Oxide
35. What is the share of agriculture in India’s GDP in 2020-21 as per Economic Survey
2020-21?
(a) 17.8% (b) 19.9% (c) 16.8% (d 17.2%
36. In which year the ‘Smart Cities Mission” was launched ?
(a) 2015 (b) 2016 (c) 2017 (d) 2018
37. The Fiscal deficit in the Union Budget 2021-22 of India is targeted at
(a) 3.0% of GDP (b) 4.5% of GDP
(¢) 5.5% of GDP (d) 6.8% of GDP

Corioc. A rs
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26.  TSUTC GRT 37T WIS TEafera feharm Sram &

(a) 3U-Trsufd i (b) I TUT 37T hl

(c) TEHHH Hi (d) WRA % g =rnefisr &b
27. Ha A o AT R 311y ¥ Fagid ST hid & ?

(a) 58 (b) 60T (c) 624 (d) 6598
28.  TSgUTd gRI TS 94T & foTe fohde gl ! At fepan Sran 8 2

(a) 08 (b) 10 () 12 d 15
29. YR % GIAYM 6l T&dTeqT H “onfRuer” 3 “GuTsiaTe]” STeal bl Sl T &

(a) 399 GIMYH g (b) 419 GIMYH g

(c) 429 GNYH gRT (d) 449 GINYH gRT
30. R ¥ gia Tormnt Aifd & &g oft

(a) 2015 (b) 2017 (c) 2019 (d) 2020
31. YRA % 159 ot S & g HHA A ?

() THAWI  (b) TWW=EC (c) 3fauea (d) .. fbE

32, ‘HER HH H EHT" W fave s 6t arfifes fié 2020 % STTER WA 61 16 &
(a) 779t (b) 72d (c) 68t (d) 634t

33. g GO i AT Ffeg aeft & | il qeh qgert, <l ST ST & -

(a) o STSHHT (b) T e=a
(c) YER fagm@ (d) 3w H & BrE ot T
34. Tafifga i a PR s M esE g 1€ R ?
(a) YT (b) 3ASIA (c) SATafSH (d) TELH TS
35. SR HaEUT 2020-2021 W SER, 2020-2021 H A % el BAT] 3cU1G H ¥ I e
CRIR N
(a) 17.8% (b)  19.9% (c) 16.8% d 17.2%
36. ‘T S T fopm o # Sy fpam mam o 7
(a) 2015 (b) 2016 (c) 2017 (d) 2018

37. YRd % Hod T9ie 2021-22 H USRS Gl Aferd 8 -
(a) GDP®13.0% (b) GDP®145% () GDP®HI55% (d) GDPHI6.8%
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38. National Institute of Plant Genome Research is located at
(a) Gurugram (b) Ludhiana (¢) New Delhi (d) Mathura

39. Which of the following is presently the largest goods export partner of India ?
(a) China (b) U.AE. (c) Hong Kong (d) US.A.

40. Which one among the following is not Cold Current ?
(a) California Current (b) Banguela Current
(c) Oya Siwo Current (d) Norwegian Current

41. Which of the following countries do not have coast along Mediterranean Sea ?
(a) Italy (b) France (c) Libya (d) Germany

42. Which of the following mountain pass is not located in the state of Uttarakhand ?
(a) Lipulekh Pass (b) Shipki La Pass (c) Mana Pass (d) Noma Pass

43. Which of the following state of India does not have common boundary with Bangladesh ?
(a) Assam (b) Tripura (c) Manipur (d) Meghalaya

44. Tropic of Cancer does not pass through which of the following state ?
(a) Gujarat (b) Rajasthan
(c) Tripura (d) Arunachal Pradesh

45. The Tribes of ‘Lepcha’ and ‘HO’ are commonly found in which part of India ?
(a) Central India (b) North-East India
(c) South India (d) WestIndia

46. Which of the following Indian State has higher road density ?
(a) Bihar (b) Uttar Pradesh  (c) Kerala (d) Tamil Nadu

47. Which of the mineral resource is connected with ‘Kodurite’ intrusive rock ?
(a) Iron (b) Manganese (c) Copper (d) Kaolin

48. Hirakund project utilizes which river water ?
(a) Godawari (b) Narmada (¢) Son (d) Mahanadi

49. The Indira Gandhi Canal project draw waters from which of the following rivers ?
(a) Ravi (b) Beas (c) Satluj (d) All of these

Corioc. A Q
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38. TS UTey M TTEUT Teer fRrd § -

(a) T (b) SRR (c) 1§ feeett (d) =T
39. feferiga o @ wiv W 1 TdHH H gl w1 o it aefer 7

(a) == (b) FTE. (c) BRI (d I
40. =99 %= i 3fa (Sv) g E g 7

(a) hicTHITHT & (b) ST YT

(c) 3T fa |m (d) ERETE g
41. T T 9 fohd T T U GR & €19 2 TR § ?

(a) st (b) W (c) efifemm (d) <
42. =19 SH 91 9ddiY ot IoiEe ST 4 fRa g @ ?

(a) Te@om (b)) BuRieT®m () wETUE (d) T
43. =9 9 forg yrde Tsg 6 E91 Ierest 9 981 ol @ 7

(a) 3EH (b) g (c) g (d) wETER
44. T 9 @ fpa U= ° @ heh 1@ & oA 8 ?

(a) TN (b) TSTEAH (¢ Bogu (d) T TN

45. AUET 9 B SHSITOA] G : W o fohd 9 | greft ST @ 2
(a) U YRA (b) SW-YH WG (c) <fewT wRa (d) ufeem 9YRa

46. =1 9 forg ardia T § 3= g AT B 7

(a) TeEr (b) I I (c) (d) dftreTg
47. T4 9 aH W Ehe Sigige’ Jddd Ieq § gafad ® ¢
(a) &l (b) HTHS (c) W (d) Hr3nfer

48. EPUS AR fohd €t T et ST Al 7 7
(a) T (b) e (c) @H (d) wEFE

49. sfegme TR afEeT A i Y R A A T A R 7
(a) TEt (b) =g (c) Fads (d) S Teft
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50. Who was appointed ‘CAG’ of India in 2020 ?
(a) Naresh Agarwal (b) Rakesh Sharma
(c) G.C.Murmu (d) Amrit Nahta

51. Which Minister resigned from the council of Ministers in India due to controversial Farm

Laws ?
(a) Harsimrat Kaur Badal (b) Ramvilas Paswan
(c) Sanjiv Baliyan (d) None of these

52. Which country is not part of ‘Quad’ ?
(a) India (b) Japan (c) Australia (d) New Zealand

53.  Which Company in India has produced the ‘Covovax’ ?
(a) Pfizer (b) Bharat Biotech
(c) Serum Institute of India (d) Cadilla

54. Who has been conferred 29" ‘Saraswati Samman’ award ?
(a) Padma Sachdev (b) Vasdev Mohi
(c) Nirmal Anjan (d)  Vikram Seth

55. The two countries which are connected with ‘Maitri Setu Bridge’ ?
(a) India & Nepal (b) India & Sri Lanka
(c) India & Bangladesh (d) India & Myanmar

56. Who is the Chief of International Monetary Fund ?
(a) Kiristalina Georgieva (b) Thomson Kary
(c) Lesli Bon (d) Henkel Joy

57. Who has been appointed as President of Olympic Committee till 2025 ?
(a) Thomas Bach (b) Oliver Martin
(c) Geoff Sanders (d) Mohammed Ata

58. Who won the IPL 2020 ?
(a) Mumbai Indians (b) Rajasthan Royals
(c) Chennai Super Kings (d) Kolkata Night Riders

59. Louis Gluck, Noble Prize Winner for Literature in 2020 is from which country ?
(a) Germany (b) Canada (c) France (d) U.S.A.

Qorioc. A 10
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50. 2020 H 9 1 €05 foreent frgem fepam w2

(a) WA (b) b YT

(c)

o 7

GET IT ON
Google Play

(d) a AR

51.  9Rd % foper w=ft 3 feranfea iy o w b= afiufoe @ sedier 2 fern ¢

(a) BT R F1EA
(c) Gofta aTfera™

52. I 1LY FEE H fHE AR B ?
(a) WA (b) ST

(b)

THTATE I

(d) ST T Y His Tal

(c)

53. YA <h! fohe a1 7 ‘Siaidad’ &1 Icqred fpan g ?

(a) ISR
(c) HIH SHIL 3T sfvea

54. 2997 TG G GEEHR fohd feam mm 2
(a) TEHIEECT  (b) STECH HiE

55. Qrem B Ag uer A IS gUE
(a) WIRG 3R 9T
(c) YIRG 3R ShcATe

56. 3T=RISI g1 IS 1 JH@ HH & ?
(a) Tsreeefin sisffan
(c) ot &

(b)
(d)

(b)
(d)

(b)
(d)

AT

AT S=Ieh
higen

e semH

T 37 fieient
AT 3T MR

AT Hi)

Fehel ST

57. 2025 T Il HHEI 1 HeAE fopd e fepam man 2 2

(a) oHEs= (b)  HAifetar ATl

58. 31M8.91.Td. 2020 ! forga Sfiar 7
(a) g=s sfea
(c) T3 g T

(c)

(b)

S dred

T I

(d) fietve

(d) faspmas

(d) HIEHIE 37T

(d) hICTehIT T8 TZSH

59. 2020 T Hifge & foTw Fraret [EhR Sfia- aTel 759 o foha qU A § ?

(a) ST (b) TSI

(c)

g

(d I
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60. Which one of the following lake is located in Champawat district of Uttarakhand ?
(a) Shyamalatal (b) Taragtal (c) Chorabari Tal (d) Dodital

61. Veer Chandra Singh Garhwali Swarozgar Yojana started by Government of Uttarakhand is

related to
(a) Tourism (b) Medical
(c) Primary Education (d) Reverse Migration

62. Which one of the following river has the highest number of glaciers in the area of its
origin ?
(a) Yamuna (b) Bhagirathi (c) Alaknanda (d) Pindar

63. In which book Mughal and Chand dynastic relation has been described ?
(a) Jahangirnama (b) Baburnama
(c) Akbarnama (d) Nuskha-i-Dilkusha

64. Which one of the following is not correctly matched ?
Name Area of Work
(a) Bishni Devi
(b) Deepa Devi
(c) GauraDevi — Environment Supporter
(d) Tulsi Devi Political Worker

Freedom Fighter
Social Workers

65. Who among the following has taken the reign of Kumaun from the Gorkhas ?
(a) Henry Ramsay (b) E. Gardner
(c) Trail (d) Lushington

66. Which one of the following is not correctly matched ?

Wildlife Sanctuary District
(a) Govind —  Uttarkashi
(b) Askot —  Pithoragarh
(c) Binsar —  Almora
(d) Sona —  Chamoli

67. In which year publication of ‘Almora Akhbar’ started ?
(a) 1870 (b) 1871 (c) 1878 (d) 1879

68. In which year Indian Military Academy was established in Dehradun ?
(a) 1919 (b) 1925 (c) 1932 (d) 1948

Corioc. A 19
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60. ITUGUE s IqTeld Sue § 1 § § i & 3ol safRa g 7
(a) WHAMA (b)) dSHIATA (c) TS AT (d) srEa

61. ITUEUS TLHR gRI T 61 =it “diX =g fig Tedrelt TerRienTR a1 draf 8 -
(a) WIAH (b) Taframa (c) wuftsfyana (d) YowEEd

62. Traferfaa afeai o @ form 78 & sgm & ° waifues feafat sefRa @ 2
(a) I (b) iRt (c) 3Tl (d) foust

63. TS Ud o= 991 o HFa-4i < R § fohd T&eh § 9u fHetar @ 7
(a) TEMAMT  (b)  STeRATHT (c) 3TehEATT (d) TEaT-u-feerepam

64. T d @ HA UH gElca & g ?

T EARERE|
() faerficdht - wdaar &t
(b) <o gEh — iSRRIl
(c) T eE — gty fEastt

(d) gefigdt -  ToHifas ot

65. Tr=fcTiaa © 9 fepe M@ § AT, hi Fdl T i 7
(@) FTEE () 3R () o (d) e

66. Trfiiaa & S o1 v T g TE 8 7
ELSICRCTILS SYe

(a) g ~ IRl
(b) 3T —  fourTe
(c) fomm ~  rcHel
(d) @ — =t

67. ‘ITCHIST SR 1 ThEH fohH I YT §3TT T ?
(a) 1870 (b) 1871 (c) 1878 (d) 1879

68. WRATE &= 3Th1GHT fohe TN gatigd | worTud 31 Treft ?
(a) 1919 (b) 1925 (c) 1932 (d) 1948
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69. In which Hindi month, the “Bikhoti Mela” is celebrated in Uttarakhand ?
(a) Baishakh (b) Ashadh (c) Margshirsh (d) Falguna

70. Which of the following place, High Altitude Plant Physiology Research Institute of
Uttarakhand is located ?

(a) Srinagar (b) Pauri (c) Tungnath (d) Haldwani

71. In ancient times the un-irrigated land form of Uttarakhand was known as
(a) Lar (b) Talaun (c) Uparaun (d) None of these

72. Who was the founder of Katyuri Dynasty ?
(@) Somchand (b) Vasudev (c) Thorchand (d) Jaidev

73. In which year ‘Tehri Rajya Prajamandal’ was established ?
(a) 1935 (b) 1937 (¢) 1939 (d) 1941

74. In which year the Garhwal Rifles Cantonment was established at Lansdown ?
(a) 1858 (b) 1869 (c) 1877 (d) 1887

75. In which place of Garhwal region the first tea factory was setup in the year 1843 ?
(a) Havalbag (b) Lohaba (c) Gadoli (d) None of these

76. Under whom was the district administration in the British Garhwal ?
(a) District Magistrate (b) Collector

(c) Commissioner (d) Deputy Commissioner

77.  Which of the following is not an agricultural apparatus in Uttarkhand ?
(a) Kutala (b) Hal (c) Maya (d) Karboja

78. In which year the ‘Kumaun Parishad’ was established ?
(a) 1908 (b) 1912 (c) 1916 (d) 1920

79. In which year were the Gorkhas defeated by Raja Pradyuman Shah with the help of
Britishers ?

(a) 1803 A.D. (b) 1815 A.D. (c) 1822 A.D. (d) None of these

Corioc. A 14
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69. “fer@ldt aen” Ior@ve § for f&=d) w1g ¥ AR ST ® ?

N

(a) SEIE (b) 3G (c) WY (d) WA

70. 3ITREvS A 3= Rredid urey my-geaE e 1 9 forg wrm W srafa @ 2
(a) R (b) Wt (c) T (d) Begrt

71, WTEH 999 H ITEUS o SRTad YH 1 el ST o1 —
(a) TR (b) TS (c) ST (d) o & IS T

72. el I T FEATYH i o7 ?

(a) < (b) drgeE (c) oRE< (d) v

73. “feall = yemmvge’ v R 9 g ¢
(a) 1935 (b) 1937 (c) 1939 (d) 1941

74, USRI U AT Ushed hl BTa-1 fopd oy wiiud <l =it 7
(a) 1858 (b) 1869 (c) 1877 (d) 1887

75. TGaTe &1 % fohH T W T 1843 H = <t Sherdt eTg TRt ?
(a) TIASTT (b) g (c) TSIt (d) ITfw 4 T B Tl

76. Tsrfewt geer # forem wemE fopges Stefiw o ¢
(a) Toemefisr (b) AT (c) HETR (d) T i

77. T 9 9 S T ITEUE 1 B TR AL B 7
(a) el (b) TA (c) Tmm (d) LSS

78. Toru o pum uftwg shi TmoHT <6l TS off 7
(a) 1908 (b) 1912 (c) 1916 (d 1920

79. TS e 3 g feifes et & et bt for o I o g mn e ¢
(a) ©€1803 (b) T 1815 (c) 11822 (d) 39U T T HiS T&I
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80.
81.
82.

83.
84.

8s.

86.

87.

88.
89.

90.

GET IT ON

Google Play

Who among the following is considered as the “Father of artificial intelligence” ?

(a) Charles Babbage (b)
(c) John Mc Carthy (d)

DNA fingerprinting was discovered by
(a) George Stark (b)
(c) Edward Southern (d)

From where Corona Virus got its name ?
(a) Due to crown like appearance (b)
(c) Due to shape of its genetic material  (d)

Oncology is the study of
(a) Birds (b) Cancer (c)
Dolphin is an example of which class ?

(a) Amphibia (b) Pisces (c)
Yellow fever is transmitted through

(a) Aedes (b)
(c) Male Anopheles (d)

Which of the following is not a flightless bird ?
(a) Kiwi (b) Emu (©)

Trinitro Tolune (TNT) is a/an
(a) Anti microbial (b)
(c) Explosive (d)

Lee De Forest
J.P. Eckert

Sir Alec Jeffreys
Kary Mulis

Due to leaf like appearance
None of the above

Mammals (d) Soil
Aves (d) Mammalia
culesx

Female Anopheles
Ostrich (d)

Sarus-Crane

Anti bacterial
Antiseptic

The first successfully launched satellite of India was

(a) Aryabhatt (b) Bhashkar-I ()

Sickle cell anaemia is a disease of
(a) Basophils (b) Redblood cells (c)

INSAT-IA (d) IRS-IE

Platelets (d) Lymphocytes

Who was the President of Indian National Congress at the time of India’s independence ?

(a) Maulana Abul Kalam Azad (b)
(c) Dr. Rajendra Prasad (d)

J.B. Kripalani
Jawaharlal Nehru
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80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.
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frfefiaa # forg “wim gigran o1 S FET IR ?

(a) THEEA (b)) I BRE (c)

T, IfASTIA & SAfISHRb o -
(a) G (b)) WIS AR (c)

ST ITERH I 39T T hal & T gl ?

(a) O S 3R b HRIT (b)
(c) ITETITh el % STTHR o HROT (d)
ﬁﬁﬁ?ﬁ\_’ﬁﬁm:[%:

(a) uleEisht (b)) HEH ©

STt fore a7l &1 JeE 8 ?
(a) TERfeR (b) TS (me=m) (o)

Hd SoR T I9RUT BIdT & -
(a) TEEER  (b) oI g ()

freferRaa § @ o a1 vel Ssfea A8 8 7

ST As Rt (d) I RS

TEae Had (d) i efera

I S 3R o I
UL Shis Wt TET

WA w1 (d) FETH

LGS RT:i)) (d) Tard

TS g (d) ATl CHTbetts gr

(a) et (b) W (c) I (d) T RE-H
eSS SIefe (SLEA. ) R -

(a) IMUEARRE  (b) IV (c) Toomes (d) TS
TR <1 J2H HoheTaTqeeh TISfard 3U77g 2 :

(a) ARV (b)  wTSRL-1 (c) TTE-IT (d) 3TE.3IR.TH.-I3
HEEQINEQRICTI IR K

(a) TSIl < (b)  THRITULST T (SISt SR /T SHITIIHIS)
(c) TSRS I (d) IS H

qRAGY 1 TAAT o THT AT T HIUE hT 3TEI i AT 7

(a) HITHT 3T HelTq TG (b) .. FHuAE

(©) . g TR (d) Tl HEE
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SECTION - 11
91. How many numbers from 1 to 100 are there, each of which is not only exactly divisible by
4 but also has 4 as a digit ?

(a) 7 (b) 10 (c) 12 (d 19

92. X s twice as old as Y at present. Three years ago X was three times as old as Y. How old
is X now ?
(a) 6 years (b) 8 years (c) 9 years (d) 12 years

93. When 13 times of a number is added to the number itself, the result is 112. Find the
number.
(a) 7 (b) 8 © 9 (d 13

94. A hall 200 m x 50 m is to be paved with square tiles. If the price of one tile of 10 cm x 10 cm
is ¥ 3.50, then find the cost of paving the hall.

(a) 25 lakhs (b) 30 lakhs (c) R 35lakhs (d) R 45 lakhs

2 B 1
95. A man spends 3 of his salary on food, 10 of his salary on house rent and 3 of the salary on

clothes. He still has ¥ 1,400 left with him. His salary is

(a) 7,000 (b) 7,800 (c) 8,000 (d) 8,400
96. Find the missing number in the figure given below :
64 125 216
1 @ 27 8 Q 64 27 125
8 27 64
(a) 21 (b) 18 (c) 29 (d 35
97. Select the pair from the options that has the same relationship as the original pair of
words :
YAWN : BOREDOM
(a) Anger : Madness (b) Dream : Sleep
(c) Impatience : Rebellion (d) Smile : Amusement

98. In a certain code GO = 32, SHE = 49, then SOME will be equal to :
(a) 62 (b) 58 (c) o4 (d) 56

99. A line A is perpendicular to line B and parallel to line C. Line D is perpendicular to both
lines E and F. Line A is perpendicular to line E. Which one of the following statement is

correct ?
(@) A, D and C are parallel. (b) C, D andF are parallel.
(c) Cis perpendicular to A. (d) B andE are parallel and perpendicular to F.

Corioc. A 1



Adda247

91. 1%1oo%qwﬁaﬁ%mﬁé@ﬁ§,ﬁ:m%;rl4ﬁugh:ﬁwﬁﬁﬁaﬁ4m@mﬁﬁ
2)? 7 (b) 10 () 12 d 19

92. FAAWH X HI AP Y H A G g | TF a8 @@ X, Y & TH T a7 41 | 379 X i 3
?j;%;aﬁ (b) 899 (c) 9a§ (d 1299

93. 98 T 1 hifore e 3L T 1 avg THT 1 S W 112 I BaT & |
(a) 7 (b) 8 ) 9 d 13

94, 200 . x 50 Ht. o Teh GUTTR | IR 5cd IR ST & | Ife 10 . x 10 Tefi. 6hi T
M5 1 o T 3.50 B, O GUTTR | 15 AT 1 hiva FHehifeig |
(a) T25@@  (b) ZT30ME (c) %357 (d) 45

95, @maﬁémaﬂ%mﬁmm,émwf—o T HehT b1 TRt ﬁ?émaﬂémaa%

T GH AT g | 379 i 3Heh E T 1,400 S0 2 | 3T o & —
(a) 7,000 (b) 7,800 © 8,000 ) %8400

96. = feu U foa W o T 9 hHIT -
64 125 216
8 27 64
@ 21 b) 18 © 29 d 35

97. foehedl  § 98 I T S Y g I | THE F9 Y UG R
ﬁﬂﬁ:ﬂw
(a) TEE: UNTANH (b) & : Hig (c) =t : fogi (d) TP : HARSH

98. fereht fafverd e & GO = 32, SHE =49 &, I SOME SIT& 81T :
(a) 62 (b) 58 (c) 64 d) 56

99, W@ A, {1 B W & 3R @1 C & TR 2 | 1T D, {1371 E U F gHIl W ol 2 | 3T A,
W@ E W o # | frferfiad § s ar e |8l @ 2
(a) A, DT CHAARE | (b) C,DUs FEHFATH 7 |
(¢) C,ARTAEE | (d) B 3 E A9MT<R 8 3TR F WA § |
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100. At what time between 5 and 6 O’clock are the hands of a clock 3 minutes apart ?
(@) 24 min.past5(b) 28 min.past5 (¢) 17 min.past5 (d) 46 min. past5

101. The ratio of A’s age to B’s age at present is 1 : 3. The ratio of their ages after 8 years will
be 1 : 2. How many years ago was the ratio of their ages 1 : 5 ?

(a) 6 years (b) 3 years (c) S5 years (d) 4 years

102. Which term comes next in the series ?
YEB, WFD, UHG, SKI, ?
(a) QGL (b) QOL (c) TOL (d) QNL

103. In a certain code language, ‘253 means ‘books are old’, ‘546’ means ‘man is old’ and
378’ means ‘buy good books’, then the code for ‘are’ is

(@) 2 (b) 4 (¢ S (d 6

104. If you are facing North-East and move 10 m forward, turn left and move 7.5 m, then you
are :

(a) 12.5 m South from initial position (b) 12.5 m East from initial position

(c) 12.5 m North from initial position  (d) None of these

105. It was Saturday on 17" December, 2002. What was the day on 22" December, 2004 ?
(a) Monday (b) Tuesday (c) Wednesday (d) Sunday

106. How many days will be there in ‘X’ weeks and ‘X’ days ?
(a) 7X? (b) 8X (c) 14X d 7

107. Which of the following diagram indicates the best relation between women, mothers and

engineers ?
°°©
O
©

(A) (B) (D)
(@ A (b) B () C (d) D

Corioc. A "N
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100.

101.

102.

103.

104.

10s.

106.

107.

5 3T 6 oot o st ford Tm™ w1t 1 g2t 3 e & ST WErdt & ?
(a) 5 &R 24 foe (b) 5 &R 28 Tie
(c) 5s9e 17 fime (d) 5SS 46 fime
FAuE § A 6 31g 3R B h 3T 1 ST 1:3 2 | 8 Y 91 3T 37T T 3 1 : 2 BRI |
foRa oY TEet ITehT 31T T 3TTITA 1 : 5 T ?
(a) 6o (b)y 3 (c) 5o (d) 4
SIuft T i |1 37T IS 37T & 7
YEB, WFD, UHG, SKI, ?
(a) QGL (b) QOL (c) TOL (d) OQNL
Ife wh Ffvaa hd HINT ﬁ, 253" &1 31 ‘books are old’ ‘@, “546° T 318 ‘man is old’ 37T
378 &1 374 ‘buy good books’ g, I ‘are’ W%% :
(a) 2 (b) 4 () 5 (d 6
Ife 3Tt Hg IW-Td i 3R & 3T 10 H. 36t oo & =, I gt 3Rk 7.5 M. =<, 79

?ﬂTq%
(a) Yfes ferfa @ 12,5 o1, gfaror o (b) vRfyes fRafa @ 12,5 #. g &
(c) Sifrs Rafq @ 12.5 . s H (d) 79 8 IS TE

17 fegmaz, 2002 1 wiHER o1, 22 fegra, 2004 1 A1 feT o ?

(a) T IR (b) IR (c) FUaR (d) TeEm
X gergl 3R <X Tt & et feme e g 2

(a) 7X? (b) 8X (c) 14X (d 7

frforfaa & @ i @ s, Afeensl, qramet w6 SARE=sT & qe gy o) q98 98 7@
Yeuarg ?

® @°%

(B) (D)
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108. Write the following in a logical sequence :
Lock, Door, Key, Switchon, Room
1 2 3 4 5
(a) 4,3,1,2,5 () 5,4,3,1,2 (¢) 3,1,2,5,4 (d 4,5,2,1,3

109. Given below are two statements followed by two conclusions. Based upon these, which
answer is correct ?

Statements : (i)  Authors are learned people.
(i) Some doctors are authors.
Conclusions : (I) Some doctors are learned people.
(I) Some learned people are doctors.
(a) Only (I) follows (b)  Only (II) follows
(c) Neither (I) nor (II) follows (d) Both (I) and (II) follows

110. Two trains, each being 120 m. long, are running on parallel tracks in opposite directions, at
the speed of 40 metre/min and 20 metre/min, respectively. How much time will they take
to cross each other ?

(a) 1 minute (b) 2 minutes (c) 3 minutes (d) 4 minutes

111. Megha ranks 21% in a class of 51. What is her rank from the last ?
(a) 31 (b) 29 (c) 30 (d) 22

112. Five girls are sitting on a ladder. Sarla is above Chitra but below Daisy. Vimmi is between
Sarla and Chitra. Daisy is between Anu and Sarla. Who is sitting on top of the ladder ?

(a) Daisy (b) Anu (c) Vimmi (d) Chitra

113. Which figure will come next in the series ? Choose from the answers :

o/ —|+ ofe +[- \¢f

+ o\ —-|- lo + ?
o - + o
(a) . (b) N -
o+ o -
© |_ . (d) L.

Corioc. A 2



Adda

108.

109.

110.

111.

112.

113.

e

Fraferftaa =1 ue arfehes sh0 1 foafaw

q«l,  Eren, =, e, wuu

1
(2)

2

4,3,1,2,5

(b)

4
5,4,3,1,2

5
(©)

3,1,2,5,4
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(d 4,52,1,3

=1 Q1 heF TE 3 W TG & ke fgu T @ | 377k STUR W HH 91 ST AR 7§ ?
g A AR B |

YA :

(1)
(i) F® Fafrcas d@® 3 & |

fred: (1) oo Fafrcs IR E |
(1) B T o Fafhes g 2 |
(a) haet (I) STTEOT AT 2 |

(©)

(I) W& (IT) ST 3180 T hid § |

(b)  shaet (II) STTEOT HIAT 2 |

(d)

(1) T (I1) ST SO it & |

T TrTSAT I 120 . orlt, IR g W faadia fesnsti & sawn: 40 fevfime qon
20 Hieyfie 1 =1t § el W18 | Qi Uh gER bl fohe &l o TR s il 7

1 fiFe

(a)

(b)

2 fire

(©)

3 fire

(d 4fre

T 1 51 TRl o e & 2197 T 2 | S8 i hl AT HH ATEAF S ?
29

(a)

31

(b)

(©

30

d 22

Teh Hig! W Ui wAsfral 9t 8 | T, foen 8 S wAfers esit 9 = 2 | fouft, aeen @ e s

SR | SSMl, 3T 9 WA o6 7 & | Hig WATH SR DA 7
(a) St

(b)

3

(©)

Etil

frafafed sfeen o wi = smsfa srTel rft 2 ST d | g -

+ [
o/ +

o/ —|+ o +-  \¢]
?
+ o\ — 60 +
+
(b)
&\
o/
(d)
+

(d) Temm
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114. In the following figure, find the missing number :

(a) 31 (b) 41 ) 72 d) 82

115. Observe the following figure, which part represents the students who are singers but not

actors ?
. —> Students
b
d £ —> Actors
g )
— > Singers
(a) a (by b (c) ¢ (d d

116. In the following, find the missing number :
68 :130::?7:350
(a) 210 (b) 222 o 232 (d) 260

117. If REASON is coded as 5 and BELIEVED as 7, then what is the code for
GOVERNMENT ?

(a) 7 (b) 8 @ 9 ) 10

118. A group of numbers is given, choose another similar group of numbers :
(32, 24, 8)
(a) (36,32,42) (b) (34,24,14) (c) (24,16,0) (d) (42,34,16)

119. Find the number which is different from others in the following group :
8314, 2709, 1315, 2518
(a) 8314 (b) 2709 (c) 1315 (d) 2518

120. A, P, R, X, S and Z are sitting in a row. S and Z are in the centre and A and P are at the
ends. R is sitting just on the left of A. Then, who is sitting on the right of P ?

(@) A (b) S () Z d X

Qart e A | A ~TQ
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114. FrerferRaa fom #, oo e s i :

%X %N %\0
4 S 8
(b) 41 © 72 d

115. = feu 7 foat o1 37arciiend ot | Shi9 91 9T ST 1 Teiid sHdl & ST T 8 9 AN T81 2

(@ 31 ) 82

- fermeff

dfc ¢ > AhE
[

g —> T¥h
(@ a (b b () c (d d
116. FreaferRaa #, o dte a Hifm :
68 :130::?7:350
(a) 210 (b) 222 (c) 232 (d 260

117. If¢ REASON &1 %< 5 3R BELIEVED 1 7 &, @ GOVERNMENT 1 %e F1 & ?
(@ 7 (b) 8 © 9 d 10

118. ST 3T T T o THET g ST 998 I -
(32, 24, 8)
(a) (36,32,42) (b) (34,24,14)  (c) (24,16,0) (d) (42,34, 16)

119. == feU TTC Tg H 39 TEAT Sl Tq SHINTT AT 31T T3 & AT 3 -
8314, 2709, 1315, 2518
(a) 8314 (b) 2709 (c) 1315 (d) 2518

120. A,P,RX,SIRNZTH UG AN E ISTHZAAHEINATIPBRWE IR et A
R WE ST 8 | 6 P b gRff AR HA ST 8 ?

(@) A (b) S ) Z d X
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T — 111
121. fr=afifea 4 @ g adfi I s A AT R ?

(a) ST (b) =T (c) IIFEa (d) =IFETRH
122. fr=feifaa ° @ i a1 forersa—fersivo <1 e i @ ?

(a) ETEd (b) TG (c) &= (d) wrEEH
123. Fafifga A g P T I T & 7

(a) TG & 3TTg 58~ & | (b) H TSI TEeTaT % |

(c) T 3TTIeh g9 B HARATE | (d) 3T ITIIT N |
124. FefRgad s AT I a& @ ?

(a) CHEEAEWIR | (b) TR RREARIME |

(c) # AfwTEs W yg W@ar g | (d) T IR @I AR |

125. Trafafga @ @ 9 91 e ‘G’ o1 F=ET= T8 8 ?
(a) & (b) @it (c) Gua (d) g

126. T T & 9 |1 316g g AT AT B 7
(a) IR (b) Afwnfed (c) 3B (d) T

127. ‘7 =afad W g aer 3 | — 3 R -fsn § -
(@) =@ (b) =afF (c) (d) =g

128. “CATETS 1 dcdH €9 91 BT ?
(a) <raf3m@En (b) ST ORRALCIRED (d) s

129. “HifaETiies’ o Tdieh WId o1 e i el Tat a1e 8T —
(a) 3ferera < a1g 1 (b) T sfaer fawre
(c) Sfaem @ qd @ (d) TaTfeaes 3fagTE & rafd

130. Tr=rferigd & 9 &9 91 3ree ‘3169’ 1 fadm @ 7
(a) w@d (b) =g (c) 4H (d =

Qart e A ’ | g ~TQ
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131. ‘et frefefad & @ frm e = foau sugra osg ? 7
(a) TSoe ufd wew T T a | (b) ot ufd Wew & e A E |
(c) TSoe ufe wew M e & | (d) TSEeT ufe W AR e IR A |

132. Frefofea feamefgm d e ar g @ 2
(a) TAC-3EATT (b) Tuh-TTrp (c) Tu-foem (d) Fu=-fau=

133. ‘TFETE’ 1 31 Yohe Hid Il IR S AT R ?
(a) TG g L AR =T Febt ATl (b) <R &Y T IR =TAN Ire
(c) W By U T GUM H arel (d) 1By § A Heh STel

134. WA 1 HEl faam g —

(a) TGS (b) TR (c) U (d) FrgTRe
135. fFr=ifera 8 I v1se 1 faem @ —

(a) SR (b) geel () | (d) IR

136. ‘3Tgad’ w1 Tl foeim & —
(a) ¥ (b) ITEd (c) TRd (d) ofgd

137. M 91 Hg T 913, ¢ ITel | i |1 faemor g 7
(a) AT forRrer (b) OfETOTETE fsror
(c) T[UTaTEeh ferrsoT (d) Sy

138. Fr=feifiga & @ & @1 =ie’ (I=wT) 1 qafEart T& 7 ?
(a) feorm (b) T (c) TR (d) rafieE

139. ‘Sdia’ =1 9 =T @ —
(a) Tomg (b) TeHTII (c) I (d) ey

140. Treferiad deam-dqewe W 3 4 B9 91 G R ?
(a) BE-gedt (b) AEUT-HEH (c) TOf-T (d) grawr-g
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141. ‘HaAY H1 T 31 < 1T AT ShiF FTERT 7
(a) Tog-wmas (b)) IEHE=T (¢) EEwE=1 () wABTE=N

142. T 8 8 N 91 U 30T’ & IHEE=N T8 B ?
(a) Taftm (b) U (c) AR (d) 3redt

143. Treifera amerITst o fotu ‘S7ereRr’ ST6g S BIAT & :
(a) S e AT & TRl fRT AT |ehat | (b) ST ST STfeAqEieh Tal fehaT ST Hehall |
(c) ST &Y fopar ST weha | (d) ST 3ifITes &9 H fopam ST Aeha B |

144, ‘sfifa’ frefafiaa d @ fra s w1 qcam 8 7
(a) 3 (b) 3ITEHR (c) SITEt (d) It

145, ITA’ vee forg g I dcdq 3 ?
(a) 3T (b) 3Tl (c) 3T (d) e

146. ‘=HchR’ Taerss & g9 STl 9T sreg 2T —
(a) THHRYE  (b) THHID (c) THHRIA (d) SRR

147. ffRead a M AT Isg aeam © ?
(a) 9= (b) =TS (c) =l (d) @

148. Trferfaa & @ = a1 g forsres - farsryor =1 e Igrgwor g ?
(a) FU-FIR  (b) @ui-w@fim (c) WAT-YeATS (d) TR-ETAET

149. I 91 I[eC ‘A [ GIF 81 & ?
(a) TSR (b) aAH (c) dRHIA (d) =

150. Fr=fafga d @ frm e A adN e 2 2
(a) wgH (b) ITFAT (c) M (d) 3agH

Qart e A ’ | s ~TQ




